4 N
ity =
FAA F=-H A€t
-{ | = (= =3 (Na—T7—9 /)\EW)
s Y A\
‘ T907-0004 FIETHZEFHIHS55—4
TEL 0980-82-2327
%A TH2£3A° SRR, TR\ FAX 0980821389 Y,
NGRS EREA. AR TORE RA-RBHHEOHE *®
COFRRB ALY EEERAR I
900 }r///,zy————ia————» 1 130
800 —O—ﬁ:ﬁkﬁm/m - APRAEE 1 1_28
700 ‘(//,/)I 4 140
— — 41.30
600 M 4120
. - __ 4 1.10
500 — = . 4 1.00
I— — __ 090
400 - ] ] ] L |1 080
e - 0.70
300 r \ ] / 1 0.60
] - 050
200 ] [ BN = [ / | 040
1 | = ] - 0.30
100 | [ B ] - 0.20
- 0.10
0 : : : : : 0.00
H274EFE H284EFE H29EE HI0ERE H31/3A 4R 5H 6A 1R 8H 9A 10A8 1A 128 18 2A R2/38
(G ENEE D)
H274E BE| oo | H29 | H3o & | |H314E R2%
B¥ity| BF9| AFEH| BF 38 4A 58 68 78 8A 98 | 108 | 11A | 12B | 1R 28 3A
gonrmemarsl 208  217] 220 234 258 326] 214 202] 186] 165| 163] 215| 287] 164] 247] 660 251
FHRR AR 406 422 427] 503 537| 428] 492| 507] 440 455| 486] 664] 539 461 549] 949 449
BB S 93 98 97| 119 359 131 98] 103 89 63 84 83 77 77 78| 133] 386
Aok AE®E | 118] 1.44] 152] 163 154] 150 160] 162 174 175 174 194] 184 181] 166 149] 142
KB %ﬁiﬁ*ﬂﬁﬁﬁi&#%&(& 2514 TRIER A LE2. 7% (T#) #HA L 1=,
ARAMKRBESE, 1,311 A TRILER A E£20. 8% (226 A) &0 L 1=,
@ AR A&, 449N THIER B EL16. 4% (88 N) JHd L 1=,
BREIAEZCK AL, 1,856 A THRIERHALE11.3% (188 N) &ML 1=,
PAE A3, 3864 THIFR A LLT. 5% 274#) #hn L 7=,
~ 526, ERRKEZHEIL. 26 A TRIER ALL16. 1% GA) R L 1=,
1. —BBERTRKE (FEZRE. N\— A LZED) (A - A% 5+ P)
= g &t 5 % # 8 | memp | MEEEA
A FTIRSRERERIA (3K 251 93 158 660 A 62.0 258 A 27
# F 251 93 158 656 A 61.7 251 0.0
_— 22 12 10 32 A 313 41 A 46.3
B HARIESREEE 1,311 495 812 1,270 3.2 1,085 20.8
% 1,302 489 810 1,260 3.3 1,071 21.6
223 93 130 232 A 39 242 A 79
C HERAZK 449 * * 949 A 527 537 A 16.4
& A | = m& 406 * * 919 A 5538 503 A 193
D BRIEZRAK 1,856 * * 1,894 A 20 1,668 11.3
[ = m 1,740 * * 1,783 A 24 1,539 13.1
E #@T 331 133 198 808 A 590 330 0.3
#B # 304 119 185 781 A 61.1 294 3.4
56 23 33 71 A 211 54 3.7
F PB4 386 81 304 133 190.2 359 7.5
wE OB % 379 79 299 116 226.7 339 11.8
26 6 20 18 44.4 31 A 16.1
G R 374 * * 113 231.0 339 10.3
FTERASR A& C/A 1.79 * * 1.44 0.35 2.08 A 0.29
IR AEE D/B 1.42 * 1.49 A 0.07 1.54 A 012
s B HTRR SR B F/A x 100 153.8 87.1 192.4 20.2 133.6 139.1 14.7
ARA F/B x 100 29 .4 16.4 37.4 10.5 18.9 33.1 A 3.7
s HTRRSR A G/C % 100 83.3 * * 11.9 71.4 63.1 20.2
AEBEZ G/D % 100 20.2 * * 6.0 14.2 20.3 A 0.1

X ORI B GRIT, MRS ZZ T OB ATEE R 20, BAGEHI B LW EAE LD D,




2 hEEHE HRUE) BEAMKRE 1. —BEBEAMRRONER) (Bfi - A-%)
L e s Bl s s Bl =
R " 2 oomolr [emar] " ig?jjzft AT A ﬁﬁéﬁt[—ljsﬁ
HTFR K BB ER A 145K 107 59 22 326 A 672 108 A 09
| 5 50 29 10 103 A 515 55 A 91
BB MKREBERK 626 351 99 603 38 482 29.9
| 5 261 166 50 252 3.6 230 135
B HEH 166 85 24 419 A 604 166 0.0
| 5 73 40 12 122 A 402 59 23.7
TRE 2 170 84 21 56 203.6 169 0.6
| ] 39 24 8 24 62.5 77| A 494
3. EEEBERMNKT X1, —BEBEZNMKTOREK) (BT - A %)
E B | ahEEE | moREE | geREE | copeEs| A | g00 | nEma | EIEE
AR KB A B 8 3 0 2 18] A 556 8 0.0
BTG 20 7 7 38| A 474 20 0.0
L 5 10 4 2 7 429 23| A 565
it 715 282 234 166 33 713 0.3 682 4.8
EUEFEHREIHRDE 156 54 39 49 14 160 A 25 146 6.8
(AXRBE) |MEFOE 361 128 147 70 16 358 038 339 6.5
REDDE 198 100 48 47 3 195 15 197 05
4 ERREEFBER (BT - A %)
E B : x| WA | enn |WEEA Tt
ZHREEAE 140 61 79 140 0.0 155 A 97
EAXFHY ZIHRERREHH 32 15 17 53| A 39.6 60| A 46.7
WEZEE R 27 9 18 38| A 289 32| A 156
56— B ZIREHN 0 0 0 0 - 0 -
EEEKBERTSR ZHREH 7 5 2 3 133.3 3 133.3
BB F S XHREAE 33 19 14 20 65.0 19 73.7
FTRE RS R 8 * * 5 60.0 7 14.3
BElE EERFTE 6 * * 4 50.0 2 200.0
AREREEFHK 1,554 * * 1,552 0.1 1,511 2.8
piifaciESRER ERINGEEH 261 137 124 217 20.3 215 21.4
BREAEHR 222 117 105 204 8.8 218 1.8
AXRBRIEEH 12,549 6,546 6,003| 12,500 04 12,093 3.8
HER A A A 117 * * 101 15.8 154 A 240
XA TY R ORI T SR, R B R IR T 0 & E e,
% 1H5 - 2 A% - SASOZMEERIEMHRITHERETH Y, FTIETLH2H5E1H D,
ERRAEDREDIFHEILFTELUET (SF02E4H108)

ERAREDRELII.EFLOBAICIVEEFRIOM/PIEREBLGISAI=T|REN, FEBBISHL T—FRKH
ISR BEFIIEX (FHAZTWD. 5@EOERAOHKER -I-BSIC. AXFU. BEEFO—EZEMKRTD

HLDHDTY .,

($SH2FE4 81 BAh S22 6 A30HETHOHRESESICEARAESHRES. )
@ AREXITIHFIFTmEE=ELI=IBESDEL glE=_E(F=E
[/ :2/3M54/5ANKEFE:1/20h52/3~])

75

RARETYET,

O EERIRDOEHEEIMLET

7 HEEIRIFEOEREIFIREEAH o= A DRIA EFTE R A L T10% Dk AN ETLT=
AN AR DA BN RS ISR CTHLAIFF2F4/ 1 BMNS[TIM2F6H30BFET

DEIFE. CNESWRADELET .

1 A EFREFEOHEZEHMZEINANSTIAAAISIEMHELTULNVES .

CRAEEEFZEOMERITIRE AL o= ADAIA &xdriaE A Lk CREFEL ET )

X E . BIRRRBERIEICIRIFEL TULNVET .

LS HE5k:

098-868-3701

S S Eh R = > SRR




BEMERFEARN-FRRKBONSI VA — MR -BBRE (FFI2E3A8%5)
(BRI - A (FLFALRU/I—F) ]

[J\ZELLFT]) (Bf: AL 5. %)
5B | ERE | FE
R KAZ | mams | kARE | kRN | kEE | smaes | sms
@ @ D/ @ © ®/D @ @,
B z z 206 251 162 369 90,9 379 1570
A EEOBE 0 0 = 2 = 3 =
B =M - BROBE 52 m T T35 777 729 7932
0] mEREME 0 0 - 0 - 0 -
08 SUBHME 0 i = | = 0 =
09 BE-+A - AEEHE 14 3 467 : 71 1 33.3
10 ERLE - BIEKHE 0 i - 0 - 0 =
11 ZOmORNE 0 0 = 0 = 0 =
17 E6. mREem. REm. EHm i 2 0.50 ? 200.0 ? 100.0
13 {RR2ET. BhEET. BLEhm 7 6 283 14 82 4 3 216.7
14 EmERE 1 5 0.20 3 300. 0 3 60.0
5 20RO ERERDBE 1 i 400 : 250 0 =
16 HalitnBrmmE 2 10 1,20 10 83.3 10 100.0
20 EHR. THAT—. TER. RERY 0 i — 0 = 0 =
05.06. 17~21. 23. 24% D) B 2 3 14 0.93 103 792.3 100 714.3
C BBNBE 19 5 075 T 7265 171 1862
%5 —REBOBE 13 59 073 107 243.8 116 196 6
26 SHBHOME 2 0 - 2 1000 ? =
)] AEEEEBOBE 1 2 0.50 0 = 0 =
28 BE-GrEEEBOBE 2 1 0.50 | 50.0 ? 50.0
20 NBEBOME 0 0 — 0 - 0 =
0 BH. BESHORE 1 0 = | 100.0 | =
3 BRI ORE 0 0 = 0 = 0 =
D REOBE m E 37738 7 75 7 30.8
30 BERREOBE 33 5 3.00 7 51 7 182
33 GRS OBE 0 0 - 0 = 0 =
M BEOBE T 2 550 0 = ? 100.0
E T—EROBE 760 i 300 5% 706 5 1585
% SFEEERET - CAOBE 0 0 - 0 - 0 -
36 NHEY—ERDBE 20 9 222 9 45.0 10 111
3 RREERY—EXOBE 3 2 150 26 866. 7 271 1.350.0
38 AR Y — R DBE 0 0 — 0 = 0 =
39 HENAEOBE 7y 17 2 41 20 18.8 18 105.9
10 BE - BEOBE 81 10 510 3 37 3 30.0
RS- ELZOBEEORHE 0 0 - 0 - 0 =
17 ZOMOT—EZDBE 5 3 500 7 16,7 7 233.3
F BRORE 1 7 050 1 700.0 3 750 0
G ERREOBE i 3 367 7% 1255 76 533.3
H AETEORE T8 7 257 5 333 5 i
1 EEREHE BEROBE . ) ~ . ~ . ~
(SEMMAE. SEMT. SERE - B0
50 EEBBEIE - EEOBE . . - . - ; -
(SEHHEE. SEMNT. SERE BFER )
51 AEDEHE - BEOBE (BHMET) 0 0 = 0 = 0 -
52 g%gﬂ%ﬁ\EEMIﬁﬁﬁﬁﬁ-ﬁﬁmﬁi 0 0 = 0 = 0 =
b4 HIGELE - INTAEDE
(SEMENE. SEMT. SERE - BHER O 12 5 2.40 4 33.3 2 40.0
57 L4 DR 0 0 - 0 - 0 =
60 MHER - BEOBE 5 i 5.00 ? 40.0 3 300.0
61 HaREOHRE . ~ . ~ . -
(EEHERE. SEMT. SERE - B9
62 BEBREOHE . . - . - . -
(SEMENE. SEMT. SERE - BHER O
63 BHEEORE 0 0 - 0 - 0 =
64 AEERE - A EBLOBE 1 1 1,00 0 = 0 -
T R RREEORE T8 5 300 7 777 5 533
65 BEBEOBE 0 0 - 0 - 0 =
66 BBEEEOBE 4 3 167 4 28.6 5 166. 7
67 MM - MR EEOBE 3 0 - 0 = 0 =
68 ZOROBEDHE 0 | = 0 = 0 =
60 FE - BREREEOBE 1 2 0.50 0 = 0 -
I BE - BEOBE g 5 750 : 7 : 6.7
0 ERBAIBORE 0 0 - 0 - 0 -
T BROBE EIBPEIEOBREER ) 2 | 2.00 0 = 0 =
77 BRIEORE 7 0 - : 12.3 1 =
7 tAOBE 0 5 = 0 = 0 =
T4 EROBE 0 0 = 0 = 0 =
K Bl 5k ARE0OBE 3 2 T 2% 755 27 2.5
B EROBE 10 g WK 3 30.0 7 14,4
76 EROBE 10 6 167 2 20.0 3 50.0
7T AEOHE 0 0 - 0 - 0 -
78 ZOh0EE - B AEEORE 4 g 156 21 150.0 20 292.7
I TR ERESE 0 1 — 2 — 2 200. 0
AR EA 18 79 753 29 50,2 29 1526
(5 5N HEE) 30 11 273 15 50. 0 16 1455
SEAEOBE 0 10 = 0 = 0 =

XIBFIEL, IXNTRERBETHY ., HHFEEZSATLEEA, .
XERLEF, ERAZNICSVWTERBBOEDNEVARIFT4NAULOERARNIES ONTLELDZELWVET,



BRMNERFRRKN-FRRKBDNSUR—bER R -BBIRR (GFI2E3A5)

(BRI -ERIILEALDH])
[/\ZELLUFRr) (B4 A 2. %, FM)
TE | TERB| 585 ‘
RAB | BAE | RARE | wRH | xRE | m | smE | REEZ s
@ @ D/ ©) /D | @ | @ | & = 5
53 = £ 222 162 1.37 131 59.0 136 84.0 173 196
A EHEHpREE 0 0 — 1 — 2 - 0 0
B EMK - BifftiEE 43 33 1.30 16 37.2 13 39.4 197 244
07 BIZEHfE 0 0 — 0 - 0 - 0 0
08 HEHRMTE 0 1 — 1 — 0 — 150 0
09 BEZE . +X - RESHEME 14 3 4.67 1 7.1 1 33.3 250 251
10 (EHILE - BISHiE 0 i - 0 - 0 — 260 0
11 ZFooifdE 0 0 — 0 — 0 — 0 0
12 [EEh., mEER. EXEEN, ZEXIE 1 1 1.00 1 100.0 1 100.0 250 747
13 {REEET. BhEEn. B 16 5 3.20 2 12.5 2 40.0 204 220
14 EEEfME 1 5 0.20 2 200.0 2 40.0 178 245
15 ZFOHMORBEEROREE 4 1 4.00 0 - 0 — 150 230
16 #HEEADOEMRIEE 6 7 0. 86 6 100.0 6 85.7 174 183
22 EWMR. THAF—. BER. BEig¥ 0 1 — 0 — 0 - 120 0]
05.06.17~21.23. 24F Db D EFIRIER X 1 8 0.13 3 300.0 1 12.5 211 250
C Z=7EMIERZE 27 39 0.69 58 214. 8 64 164. 1 156 167
25 —PREFORHE 21 34 0.62 54 257.1 59 173.5 153 161
26 SEEFOBEE 2 0 — 2 100.0 2 — 0 157
27 HEBEERHFEORME 1 2 0.50 0 - 0 — 140 300
28 BE - REFEEEHORE 2 3 0.67 1 50.0 2 66. 7 193 170
29 NENEFOBE 0 0 — 0 — 0 — 0 0
30 B, BIEEFHFDE 1 0 — 1 100.0 1 — 0 138
31 EBHFEARWIRIEDRE 0 0 — 0 - 0 — 0 0
D HER5FEDREE 18 10 1.80 1 5.6 3 30.0 172 177
32 HE&SIRGEDRE 7 8 0.88 1 14.3 1 12.5 157 161
33 REMALORE 0 0 — 0 - 0 — 0 0
34 EBEEOEZE 11 2 5.50 0 — 2 100.0 225 185
E H—EXDB%E 78 30 2.60 39 50.0 36 120.0 168 190
b RELEFIEY—ERADEBE 0 0 — 0 - 0 — 0 0
36 NEH—ERDREE 19 7 2. 71 8 42.1 7 100.0 168 186
3] RREEEY—EXDRZE 3 1 3.00 23 766. 7 231 2,300.0 130 154
38 AEEEY—EADBE 0 0 — 0 - 0 — 0 0
39 EBREMRABEORE 13 11 1.18 4 30.8 2 18.2 168 179
0 BEE-HKToBE 32 8 4.00 2 6.3 2 25.0 179 204
41 EEREE - EILENEBORME 0 0 — 0 — 0 — 0 0
42 FDhoHU—ERDEE 11 3 3.67 2 18.2 2 66. 7 150 174
F REZEOEZE 0 1 — 1 — 2 200.0 150 0
G EWABREDBE 8 3 2.67 2 25.0 2 66. 7 183 192
H SEIROREZE 14 6 2.33 6 42.9 5 83.3 163 203
19 EEBEHE - BROBE . . B ; B ; ~ ] ]
(SEHBEE. SENI. 2ERE - B
50 EEREEIE - EEOBE . . ~ . B . - . .
(SEMHEE. 2EMT. SEEE BEER O
b1 AEBEHE - EEOBE (HET) 0 0 - 0 - 0 - 0 0
57 SERHENE. SRNT. 2EEE - BHOBE 0 0 - 0 - 0 - 0 0
54 BUSELE - MIMEORE
(SEHHNE SENT. SERE - SHER O ) ooz o 2/ %0.0 150 202
57 BEWFEII DB 0 0 - 0 — 0 — 0 0
60 HWHElE - BEORE 5 1 5.00 2 40.0 3 300.0 150 207
6 WIAREORE 0 . ~ . B . ~ . .
(SEMHE. SEMT. 2ERE - B9
62 WEREORME . . - . B . - . .
(SEHRLE. 2EMT. SERE - BAHER Q)
63 BHMREORE 0 0 - 0 - 0 - 0 0
64 HEMEE - £EFALOBE 0 1 — 0 — 0 — 200 0
I EX - HEEERERDRE 14 3 4.67 3 21. 4 4 133.3 190 180
65 SEEELDRE 0 0 — 0 - 0 — 0 0
66 BENEEIOBZE 10 0 — 3 30.0 4 — 0 169
67 il - MBI D BE 3 0 - 0 - 0 - 0 171
68 FDfthDEEDRE 0 1 — 0 — 0 — 170 0
69 TE - BRWHERDBE 1 2 0.50 0 — 0 — 200 220
J B - BREORE 9 6 1.50 1 11.1 1 16.7 178 208
10 BEERFARIEORE 0 0 — 0 - 0 — 0 0
N EEHOBE (BERPRIEOBEZKR) 2 1 2.00 0 — 0 — 200 215
12 BRIFEDOEE 7 0 — 1 14.3 1 — 0 205
13 T ROBZE 0 5 — 0 — 0 — 173 0
14 REORE 0 0 - 0 - 0 — 0 0
K & - 5iF - BEE0RE 11 12 0.92 3 27.3 4 33.3 165 162
15 EikDBE ) 9 0.78 2 28.6 3 33.3 145 160
16 BIROBE 4 2 2.00 1 25.0 1 50.0 225 168
71 aEOBE 0 0 - 0 — 0 — 0 0]
18 ZDHDEW - 5iF - BEZORBE 0 1 — 0 — 0 — 200 0
I TR ERESET 0 1 = 2 2 200.0 260 0
124 R ER E S AT 40 16 2.50 12 30.0 11 68. 8 188 200
(5 5N ERR) 23 9 2.56 10 43.5 9 100.0 181 186
A N O E S 0 19 — 0 0 — 176 (0]

XIBEIEIL, INTHERHKETHY ., FIRFEEZSATLEEA,
XKERLF, ERAZNICAVWTERIFDOEDALGTLARIT4NALLOERARBAEDONTLESELEDZLWVET,




B SR AN TR A - #3788 KB D/

\‘—s

\T

(B -ER/N\—rDH]

AV—hEFR R -MBAKR (GH2E3 R 5)

[/\ZELFF) (B4 A . 5. %, +F)
5E | DERE | T8 ‘
RAM | PR | kAR | wRE | xEE | wm | ams RERZ ) RAEH
@ @ D@ ©) @D/ D | H#® | @O | & = ==
i ¥ = 184 89 2.07 238 129.3 243 273.0 92 103
CETES 0 0 - 1 - 1 - 0 0
B - FTAORE 19 11 1.73 119 626. 3 116] 1,054.5 130 143
07 PBAREME 0 0 — 0 — 0 — 0 0
08 & &EHfirE 0 0 - 0 - 0 — 0 0
09 BE- A BIERME 0 0 - 0 - 0 - 0 0
10 (BRI - BISHHE 0 0 - 0 — 0 - 0 0
11 ZFoosfME 0 0 - 0 — 0 — 0 0
12 EEh. SREE. BER. EXEm 0 1 — 1 — 1 100.0 240 0
13 {REERN. BhEEER. FHHEAD 1 1 1.00 12| 1,200.0 11| 1,100.0 130 150
14 EEPEfME 0 0 - 1 - 1 — 0 0
15 ZOMOREBEEREORE 0 0 — 1 — 0 — 0 0
16 #HEEAOEMRRE 6 3 2.00 4 66. 7 4 133. 3 88 101
2 EWR. THA4T—. SER. BERE 0 0 — 0 — 0 — 0 0
05.06.17~21.23. 247 Dt D EFIRIERE 12 6 2.00 100 833.3 991 1,650.0 134 163
E Nl ES 22 26 0. 85 53 240. 9 57 219. 2 86 94
25 —PREFOBE 22 25 0.88 53 240.9 57 228.0 86 94
26 SEHEHFOBE 0 0 — 0 — 0 — 0 0]
)] EEMEEBOBE 0 0 - 0 - 0 - 0 0
28 HE-REEEEBEORE 0 i - 0 - 0 - 0 0
29 NENEFORE 0 0 — 0 — 0 — 0 0
30 EH. BEEBEOBE 0 0 - 0 - 0 - 0 0
31 FHFEARWMIRIEDORZE 0 0 — 0 - 0 0 0
R 0)E 26 3 8.67 1 3.8 1 33.3 83 95
32 HE&SIRFEDBE 26 3 8.67 1 3.8 1 33.3 83 95
33 BERFEFELIDEEE 0 0 — 0 — 0 0 0
34 BEOBZE 0 0 — 0 — 0 — 0 0
H—EXDRE 82 11 1.45 26 31.7 29 263. 6 84 95
3% REEEREY—CAORE 0 0 — 0 — 0 - 0 0
36 NEH—ERDEE 1 2 0.50 1 100.0 3 150.0 83 110
31 REEERY—EXDEZE 0 1 — 3 — 4 400.0 90 0
38 AEEAY—ERDBE 0 0 - 0 - 0 — 0 0
39 EREMREOREE 28 6 4.67 16 57.1 16 266. 7 84 92
40 BT - R ORE 49 2 24.50 1 2.0 1 50.0 80 97
N EERD- ELEQEEORE 0 0 — 0 — 0 — 0 0
42 FDHOU—ERDEE 4 0 — 5 125.0 5 — 0 95
EERAD)E 3 1 1 1.00 0 — 1 100.0 85 80
=Y = EJ0)iE 3 3 0 = 14 466. 7 14 — 0 102
EETROBE 1 1 200 0 - 0 = %0 92
19 EEREHE - EEOBE ; ; B , ~ . ~ . .
(SERHHE. 2EMT. SERE - B0
50 fEERmEHG - EEORE . . B . - . - . .
(SEHMHUE. SEMT. 2EBEE BHER Q)
51 EEREHE - EEOBE (R 0 0 - 0 - 0 - 0 0
57 2EHEAE. SRNT. SEEE - BHOBE 0 0 - 0 - 0 - 0 0
54 HFHE - MTANEDRZE
(SBMENE. SBINT. SEEE - BHER O 3 I 300 0 0 90 9
57 BRI DI E 0 0 - 0 - 0 - 0 0
60 MMHER - BEORE 0 0 - 0 - 0 - 0 0
61 WMEREOHE . . B . ~ . - . .
(SRHHUE. 2EMT. SERE - B8
62 MEREOHE . . B . - . - . .
(ERHENE. SRNT. SEEE - BHER
63 HEMBREDRE 0 0 — 0 — 0 — 0 0
64 HEREE- EEHALUORZE 1 0 — 0 — 0 — 0 87
Bk - i WOEER DR E 4 3 1.33 1 25.0 1 33.3 90 98
65 EEEEDRE 0 0 - 0 — 0 — 0 0
66 BEIEELRORBE 4 3 1.33 1 25.0 1 33.3 90 98
67 MM - MEEEORE 0 0 — 0 — 0 — 0 0
68 FOOEIEDRZE 0 0 — 0 — 0 — 0 0
609 =B - RREEEEORE 0 0 — 0 - 0 - 0 0
BE - RROBE 0 0 - 0 = 0 = 0 0
10 EERFPARIEORE 0 0 — 0 — 0 — 0 0
71 BROBE REFAIEOREER) 0 0 - 0 - 0 - 0 0
72 BER/RIEORE 0 0 — 0 — 0 — 0 0
13 ROEZE 0 0 — 0 — 0 — 0 0
74 REOBE 0 0 — 0 - 0 - 0 0
Bk - EE - aEEORE 23 12 1.92 23 100.0 23 191.7 87 97
75 ERDORZE 3 0 - 1 33.3 1 — 0 90
76 BiROBZE 6 4 1.50 1 16.7 2 50.0 100 82
71 SEDOBZE 0 0 — 0 — 0 — 0 0
18 ZDHMDER - 51 - AEZ DX 14 8 1.75 21 150.0 20 250.0 85 101
I TR :ERESET 0 0 — 0 — 0 — 0 0
124 B ER S AT 8 3 2.67 17 212.5 18 600. 0 98 109
(5 BN ERNR) 7 2 3.50 5 71.4 7 350.0 83 102
DFERREDEE 0 21 — 0 — 0 — 88 0

XIBHIERX, INTEBETHY . HRFEZSATLEEA,
XEREE, ERAZNICEWTERSBROEDHNGELARIE4NAUELEOERBEAEDONTVEEDELVET,




L E Sl

FANRN « AR ST o A — |

~ (5Fn 243 H4Y)

~ [FR2ER] « W (DA H A DKOR—1) ]
[ J\E[LPT] CHAT = A - - %)
H 2 R 5% = P <k
& = it P N fr
(A) 4 5Ll E 4 5Ll E 4 5Ll E (B) (B/A)
Tk = = 1, 302 620 489 256 810 363 1,740 1.34
A B il 5] ik e 2 2 1 1 1 1 4 2. 00
B H M B oy om Bk ZE 188 83 52 27 136 56 442 2.35
07 BH 7% £33 i =4 3 0 3 0 0 0 0 —
08 il & £33 i # 3 1 1 0 2 1 1 0.33
09 # + K o B i EF 6 4 6 4 0 0 31 5.17
10 15 #H & B ®moE B i o 6 3 5 3 1 0 2 0. 33
11 = D 1t D £33 i =4 0 0 0 0 0 0 1 —
12 =R, B A=, BRIEAM ., 3 A A 3 0 0 0 3 0 8 2.67
13 £/ Bf By PE Ah & iE A 23 10 1 1 22 9 58 2.52
14 = JE £33 i £ 6 0 0 0 6 0 12 2.00
15 % O fli o £ /# = B o W * 6 0 2 0 4 0 20 3.33
6t = & # o H M @y % * 74 35 13 7 61 28 144 1.95
22 EINFE, THAF—, BEFE, MBIREE 5 3 2 1 3 2 0 —
05.06.17 ~ 21.23.24 %= O fih © B [ 7Y Kk 2 53 27 19 11 34 16 165 3. 11
C =+ % D] Tk e 362 128 76 20 285 107 309 0.85
25 — s L2 b D ik ES 338 118 63 16 274 101 276 0.82
26 = At =+ b D ik ¥ 9 4 3 0 6 4 6 0.67
27 4 P OB O # O F OB o I E 3 2 2 2 1 0 5 1.67
28 B Br 78 B8 # H=H B o Bk ¥ 9 2 5 0 4 2 6 0.67
29 4k ) =+ b ) Tk E-S 0 0 0 0 0 0 0 —
30 3 g W o F B o B E 2 2 2 2 0 0 14 7.00
31 F % M ¥ &= B OE o W OE 1 0 1 0 0 0 2 2. 00
D Hix 7e D ik E- 43 17 15 2 28 15 103 2. 40
32 P4 fh Hix e D Tk e 37 17 10 2 27 15 75 2.03
33 A 5C Ll 2l D Tk £ 0 0 0 0 0 0 0 —
34 = e D 5% e 6 0 5 0 1 0 28 4,67
E a = = A D Tk ES 173 80 71 38 102 42 556 3.21
BbFEEEE XE Y — B 20 E 0 0 0 0 0 0 0 —
36 9 #£ Y — v 2 O R 35 15 13 5 22 10 56 1. 60
37 £ i E B Y — B R O R ¥ 6 3 0 0 6 3 18 3. 00
3 £ I O OAE Y — B R o B O 15 4 4 1 11 3 32 2.13
39 & W W OB oo B ¥ 54 32 28 17 26 15 135 2.50
40 ¥ 0K w0 B 38 17 13 9 25 8 224 5. 89
41 JEE R - v v E o E B o B E 2 1 2 1 0 0 0 —
42 F O oo ¥ — B R O R E 23 8 11 5 12 3 91 3.96
F R @7 D 54 £ 6 5 6 5 0 0 8 1.33
G i N i ES D Tk ES 36 23 32 20 4 3 47 1.31
H st E T T2 D ik £ 33 10 21 8 12 2 45 1.36
49 £ PE ik | M A - B O o Bk e 0 0 0 0 0 0 0 —
(iﬁﬁﬂi GBI, B - R
50 £ E & 1rﬁ%l1ﬁﬂ-%%ﬁ@ﬁ'€iz¥
(i%ﬁﬂ% L AeEINL /\}E/ﬁ]% s 1 0 1 0 0 0 0 —
o % 55 )
51 A& pE X% {g il 4 - ﬁ*%ﬁ@%% (*%‘%Hjin‘ﬂi) 1 0 1 0 0 0 0 —
2 4 @ oM B R E . & B o L. 0 0 0 0 0 0 4 -
& B W WO oo Bk ¥
54 HO5L ®odE - o Lo oo B OE
(& EMEtiE, &N, &REE - & 22 7 11 5 11 2 23 1.05
i % 55 < )
57 K& 554 HH ST D ik £ 2 0 2 0 0 0 0 —
60 B Mk B W - & EH o Ik 4 3 4 3 0 0 14 3. 50
618w B A o W X 0 0 0 0 0 0 1 -
(B EtEE, &R L, 2B - IR
62 AT R g D Tk 3
(&EMEiE, @RI, &REE - % 0 0 0 0 0 0 0 —
iy % 55 < )
63 #¥ 354 R 1 D Tk ¥ 0 0 0 0 0 0 0 —
64 /£ pE B8 # - A PE B U oo B E 3 0 2 0 1 0 3 1. 00
I M X - B O E HE ok E 24 20 22 19 2 1 41 1.71
65 £k 8 TH iy D Tk e 0 0 0 0 0 0 0 —
66 H B B OE $i=g 0 B ¥ 12 11 11 10 1 1 29 2. 42
67 fn MR - L ZE KK E #E o Bk ¥ 0 0 0 0 0 0 3 —
68 = D At D iié o T ¥ 2 1 1 1 1 0 3 1. 50
69 & & OB OB W E ik o Bk 10 8 10 8 0 0 6 0. 60
J [ . B oo B ¥ 12 8 12 8 0 0 25 2.08
70 2 %K ﬁi T = o Hﬁia * 0 0 0 0 0 0 0 —
71 RO (BRBAKTLTHFORMELZIR) 2 0 2 0 0 0 3 1. 50
72 & = I = D Tk E 2 2 2 2 0 0 21 10. 50
73 + 7S D ik ¥ 8 6 8 6 0 0 1 0.13
74 R I D ik e 0 0 0 0 0 0 0 —
K = Ok - E R - W ¥ E o B OE 136 94 87 54 48 40 160 1.18
75 & e D Tk S 24 13 23 12 1 1 33 1.38
76 IH fir D 5% ES 53 37 34 23 18 14 66 1.25
7 8 £ D 59 e 1 1 0 0 1 1 0 —
78 = DOt o E R - JE i - % ok 58 43 30 19 28 24 61 1. 05
I T 3 P Ik S = i 12 3 10 3 2 0 8 0.67
& ik E3 1H ik == a =F 94 46 23 12 71 34 185 1.97
(9 b ﬁl\ E D) ( 55) | ( 26) 17) | ( 9) 38) | ( 17) | ( 98) 1.78
A b S D Tk = 287 150 94 54 192 96 0 —

X%%Zfﬁi ﬁ"\fﬁiﬁfﬁf&)D B2 23 A TV ER A
XE LT, BARICBW TR OED R 720 XT 4 AL EORABIFNED 5N THD D& NNET,




